Chapter 4,5 review

Sections labeled at the start of the related problems

41 Classify as equivalent inequalities, equivalent equations, equivalent expressions, or not equivalent.

1
1)-—-v=-7,v=28 Inequaliies are equivalent if they
have the same solution set, so you
need to solve each one to determine

(_"i r"gl- V\ < ('—7) (,_ ‘—{j VZ ) g if they are equivalent.

/229  EQurALErT

Choose the number that is a solution of the inequality.
2)-3n-7=<-4n-18

A) -9 B) -8 Q) -10 D) -11
_BV\. "‘7 < *Hn - f? Solving inequalities is similar to solving equations. The main differences are that the answers
Lyn £7 +4n 7 are typically infinite and so usually are given in interval notation. Also, you need to remember
i to switch the inequality if you multiply or divide by a negative number, as in #6 and #8.
n < -...-{{ One other time you will switch an inequality is when you have the variable on the right side and
- wiant it on the left side. Then a mirror image happens, which includes a switch in the
50 @ inequality. Examples of this type are in #20 and #21.
Graph the inequality and write the solution set using both set-builder notation and interval notation.
3)x<-7
8-76-5-4-3-2-10112345¢6738 For both the graph notation and the interval notation, it is necessary to put
the numbers in numerical order, as they are found on the real number line.
The difference between the { or ) and the [ or ] are whether the inequality
X / V£-1 includes an = :)
ur
C_OO;_?) = Guts [ > 9yes <

8-7-6-5-4-32-101234°5
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Solve and graph the inea

Solve.

—~
8) -30r - 5 =-5(5r - 4) Put your answer in interval notation.

“30r -5 2-357 490
4251 +G L2507 45

5r £ 7 -
= = [-5,%)
rz-5

ity. Write the solution set using interval notation.

The steps at the beginning might
include clearing fractions, which
is when you may see a multiply
by a negative number. Make
sure that if you do you switch
the inequality.

The last steps may include a
divide by negative number.
Malke sure you switch the
inequality.

Find the domain of the function. Put your answer in set-builder notation.

9) f(x) =4/6x -5

Gx-5 z0

iy 15
bx 2 ¥
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xz5
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Solve the inequality.

10) A car rental company has two rental rates. Rate 1 is $45 per day plus $.18 per mile. Rate 2 is $90 per day
plus $.09 per mile. If you plan to rent for one week, how many miles would you need to drive to pay less

by taking Rate 2?

Let x= # miles driven An o Ty
They R'-"lfﬂl ('(_')3-’ ,J‘S ‘/g.‘]_}. -)8)(

? Rakd cost 15 gpq4.09)
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4.2 Graph the set on the number line.
11) {x | x <-4 or x>4}

12) {x I x =4} and {x | x = -4}
(_’_—J;%

Find the indic

25 18X D630 +.04)

3~ BT -.04)
Sk 7 35
09 .69
X7 3500

o [3500 mic €|

For compound inequalities, they will either give you the word OR (or
union) or AND (or intersection). The way | do these is to graph each
inequality on the same numberline.

Thenifitis OR, I include as my final answer all of the numberline that
has been covered by any of the inequalities. These may be all real
numbers.

Ifitis AND, | include as my final answer all of the numberline that has
been covered by both inequalities, so the overlap. These may have no
solution.

13) LetA={q,s,u,v,w,x v, z},B=1{q, sV, z}, C={v, w, X, y, z}, and D = {s}. List the elements in the set A u B.

AoB = S5V, W X2
() meuns Wl s in 04e, Ty sTerar betin

Uis union and can be interpreted as what is in one, the other, or both.
ﬂ is intersection and can be interpreted as what is in both.

Graph and write interval notation for the compound inequality.

o
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-7 -6-5-4-3-2-101

14) -6 <

,\,.-
wa
=4
wd
a4
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This compound inequality is in a condensed form. These type will
not have the keywords OR or AND involved, though sometimes the
instuctions may reference the intersection. These type are always
an AND intersection problem. You will never see an OR intersection
compound inequality in this condensed form.

These AND condensed form compound inequalities are the easiest
type to solve. The final answer is easy to get without graphing both
inequalities and looking for the overlap.




15) x <5o0rx<7

OR: What is included in one,
the other. or both.

Solve the inequality and graph the solution set.
17)5x -1<4and x-2>-1 AND: What is included by both.

>
"+ttt

7-6-5-4-3-2-10 1823 4567
Sx-|<4 X=-37- /\

5 <§ x7 | Vo
X | CYERLAP SO

One note about the solutions that include all of the
numbers to the left or right of a number. You will
use the infinity sign. The negative infinity will

always go first, and the positive infinity will always

’“/ - £3X —4y £ go last. You are also limited to just the { or )
-y +6 -3y 4 2 A symbaol with the infinity regardless of the type of
~#f é - inequality you are working with.
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19)4=4t-4<16

c4l-y<1¢
{fl: 'éw-]'[{ 'F‘l’

20) -9=-2c+1<-5

For these condensed intersection problems, just isolate the
variable in the middle. “When you do a step, make sure you do
that step to all THREE sides, the left, the middle and the right. If
you divide or multiply by a negative number, make sure to
switch both inequalities.

1
T T T T T

8 -7 -6-5-4-3-2-1

-"fé—}cnff 4-15

-l L -3 <—b
T4 L3
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21) -6 =9x+3and 6x-2<16 :

765432

—101\<34567

To easily jump to the final answer, the
numbers need to be in numberling order,
50 if you have switched the inequalities,
as in this example. you will have to switch
them again with a mirror image switch to
get the numbers in the right order.

_%5%43 Cx-24/ overlAf
- - 42 a1l
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4 29 oralg O
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Write the domain of f in interval notation.
o x+1
22) f()()_A1x+5
HpdL 5 =0 Do mAnig
-5 -5
Hk = -G
7
(==F
1
4.3 Classify

23) Ix| is always positive.

FALSL ’,\(} (on =0 C"ﬁwt"“

The domain of a rational function is the set of
all numbers that don't cause a divide by 0
error, so set the denominator = 0 to find the
error and then exclude it from all real
numbers to get the domain.

One interpretation of the absolute value is all
MNOMN NEGATIVE numbers. This includes
the positive numbers as well as 0. The
smallest |x| can beis 0.




Solve the equation.
24)|b+2|-8=1

h= 7
lo+)] =9 [71]-3 =/ [AHa -9 =/
bR=9  bH=9  |qlq-= Fal-e=t
b= 7 bz-l g-g=! e g-g=1
25) [z| =~

[2] 15 non “f’jOﬁw,
27 T=-7
Checker [9[=-7 mo | [7]=-7 o, 5 Sﬁ
26) Let f(x) =| x| - 5. Find all x for which f(x) = 10.
X[ -5=10

(xl=
YIS f=-(5

OR,

ﬁ%z&!

Oﬁiﬁh ('h(’d:‘_
5
sl=5-C 3721

27)|5s-1|=Is+6l

=454 (

S-S 4 el D
132 65 =5
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=2 N
1 5=/
28) In+51 =12 -nl ,}jp;fom(c,-
n+s5 =271 Ndg5= -2 +Nn ( heckl
in -5 -5 TR —n -5 “En r________.
D= o7 52
S z | 2
-3 /5
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g

Solve the absolute-value inequality.

29) [r-9/>9
OR PROBLEM (7u ﬁﬁ‘u‘IOQ)
Skt opposity
© 959 R - 3 < 7
_f_q ,,{_q
7/ or — £ 0
=) —
J T
> (e

i (-0,0) u(rg,w) i 6

Iake sure you isolate the absolute value
equationfinequality before you brealk it up into its two
parts. For an equation, the two parts are thus:

Part one - Write without absolute valuss.

Part twio - Wirite without absolute values and make the
right side its opposite.

Given that there are two parts to solve, you should
expect to have two solutions to an absolute value
equation.

Once you isolate the absolute
value, if it is equal to, less than
or equal to, or less than a
negative number, you will have
no solution to the problem.

Isolate first.

For the problems with two
absolute values, isolate each on
its own side. Then you will again
get twio parts to solve. Drop
absolute values for the first part,
and drop absolute values and
change the right side to its
opposite for the second part.

If one of the parts gives you no
solution, you will only have the
other answer as the final
answer. If one of your sides
gives you all real numbers, you
will have all real numbers for the
final answer.

Absolute value inequalities are
either OR or AMD problems.
Isclate the absolute value first,
and then you will be able to tell
which one itis. || > is an OR,
|| = =isan AND.




30) |g + 8| <5

Ann (< s Less TWAAD)
50 -549+4g<45
-5 £9 £-3

31) 18y -5l +1<-1

The AND absolute value
inequalities can be translated
into a condensed AND
complound inequality, which is
the easiest type. Therefore |
always solve them this way.

i o £ Jy5 L9
/3y—§’4~2 A/UD ;2 / e
| arl: r T VP OVERLAL
An [+ ] 5 no1 1esaie, 50 2 s oy23 79
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Solve and graph. 2 ;
32) 12k + 21 <-7 ’ ?

1#/ cauf be £ =7

e

/Ouée LAD SO

33) Ix-81 =<0 N
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-2 56 ~3
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If you have an absolute value
inequality <=to 0, you will only
get one number as an aswer. |If
you have an absolute value > 0
you will get all real numbers
except one value.




35) 17k + 61 >-9

an /;4] (5q}u,q/5 > _q ffofz:@}dbi_

r — >
R AV OR PROBLLM: ., %;7__,1
7kt6 72 -9 oR  7Ktf6 2 ‘?/

iz 7
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37) 14x - 71 >0
o 4% -7 >0 ©R
47 47
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Find the requested solution.
39) Let f(x) =| 9 - 8x |. Find all x for which f(x) < 1.

[9-¢v/ 2

ANMD so q / J—
—[ £ 9-¢x =

The absolute value inequalities

>+
| 7=

| | ==0 are always true, and so
are all real numbers solutions.

Isolate firstl




44 Complete the sentence.
40) To indicate that the boundary line is part of the solution, draw it

A) with arrows at its ends. B) as a dashed line.

C) as a solid line. D) with solid dots at its ends.

a BOU/JfJW/ /Mf’ /f /Oo*ml O1C F e SO/wébv/

/

T ods WI("L;(/Q((? /6 5/717.,:, 2 or £
ﬂﬂf’ = /Wa}&cg il ﬂa/ﬁz mﬁ 7{1»\:- %/w%ﬂ

Choose the ordered pair which is a solution of the inequality.
41) 2x +4y =8

A) (0, 1) B) (2, 1) Q) (0,0) D) (1, 1)
?{D)*‘f(f)-‘ bzg 20)4vl)=- 92 8 2/0)"“//0):038 D(-‘)Jy(;): (z9
FALSE TR Carse FALG(
Graph on a plane.
42y x -y >-6
%;fff% Liv € 7St Powwr
* (00)
of6 )
o 0-0 ?;é
{ DASHCD © 7
TRUE
50 5 hade
(0,0)

Two variable linear inequalities are like 2 variable linear equations. You first get two points so
you can graph the line. The differences are some times the line is solid (<= or >=) and some
times it is dashed (< or >) and the final answer is the shaded region on either one side of the
line or the other side of the line, determined by checking a test point. If the point works in the

inequality, you shade the point side of the line. If it does not work, you shade the other side
of the line.




oL~/ DARY LINVE TEsT7 pPoirT

15 k=15, (0,0)
(rzss¢s X @5 075
so VERTICAL %]S(" ¢
6 5641 D dowtshede
(6,6)
44) 2x +y <=3 BovwpAry L€ TEST
XY =3 (0,0")
37’53 dlo)to~0&-3
10 FALSL
g soLi SO DoaT

THADL (00)
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45) -6 <y <6 BOUNDMX LIV ES §HA Pl
or

THESL ceoss TULy S0 14 BE 7wy
AXiG 4 so ARC

floR lzonrta, |
g DAsHeD

For two inequalities in two
variables, our current book
expects you to find the
intersection of the two shadings.
Other books will ask for the
union as well.

Graph the system of linear inequalities.

46)3x—2y56andx—]‘>0 LMJ@;: &UUDMV B)EQV: e Té57(0,0)

¥0)-2(0)=0 £¢
O-2 ¢ SoLD vE, 50
2'0 e (2.0

Haty: BouwDhry X-I =0 TEST (0,0)

X: " Vé@'Tf(AL /(£OS$M/G— O__I :_'!(‘?O
@ x=1( 4 sotp

FAcsc
AVD 15 10TER SEcTron 50 Do T s hAde
S0 THL REGION SHADED O

ﬂ%‘/ BOTH, wclvpiw RoApeg
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47y x +2y<2and x+y =0 LINE OLE LINME TWO

// X+2Y £ 2 X+yz0
l
/ Ofl  soLip 0
- TT (00) auotlew X vawe
[
0f20)=0£7 W SN 0%71- Fuo o urts
TRUE 67 (30) @Y s on 1o hne
_ 50 Jou big
TOTIEC ik ;;,
Aauo
TRUE Jomf
BLoE ol k-
(A TERSL (A ION
Graph the system of inequalities. Find the coordinates of the vertices.
48) 3y -x =9, YA E LINED! Lwe >t
y +2x =10, Yk £9 Y +x£ 10 YZO
37—! S cpossts @O,
410 <0 Horlzoar 4 (
SoLiD SeLcD
Sollh
TB‘;r"(o,o) T¢E 57’(8,0\ 4 5bade 2D
0)-6>6£9 0FXD)=0 4 (D 0 UP.
TRUE TRUE
VErTICE S
V,sa (—‘i’,o)
Vs 15 @ & ,0)

oRvD YV, we ameed TO SoLvt /¢ S/sTem of
CQUATIWS ComsISTA/ (G of THE LIVES THAT CRoss@ V.

2)~k=9 R JR)+2>

y ek =/0 R: ('D}/..?)( _;/8 22‘
+ V4% =(O J?"’L?X:H/?
7y =d% ox=4
7 7 > =
=y X=3



49) 2y + x= -2, Linkl. Lived Live 3

AF 2Y 422 rexeq  jeo
o II HeRizotA £
TEST (0,00 TéST /o,o) 5:1*"0,
Y4602 2 O+¥o)=0£ G 5#396 )
TRUE TR ELo
BLue ivreesecron
:('O;D’) :ﬂ%o) V"t :Cor'—m
\(Lf ) Uyt Qy4x=-2 &, “3R1 4R R.
/ Y +3x =9 R _._(:\/.-3%.: ¢ 3{‘3)4-)(:-)
v +’3X7q ,_g -{-X;—?
+ +b 46
_E\/ :J_E" )(T-L{

-~ -5
Ty:— (‘l.f”?DBVB

C [4(0( k Factoring is dividing so you
//'*:-a — " checlk by multiplying.
Y IC3x-5y = 1)

= IJw)X ~20w ) - (w2

Write an equivalent expression by factoring out the greatest common factor.

51) 1265 - 60c3 Check:
209 =

S c” 5 —(od”

52) 24x9y7 - 36x6yO +

¢ beck [2)( (JX\/ ’?Z)X)f 43>
= quy ﬂ%x;r + 36x"y”

13



Factor out a factor with a negative coefficient.
53) -2x + 6

) 1

P
check: (Y= x4l v

54) -2x2 + 4x - 12
— 2 (X234 0)

Checle
7 2 v
2 X=x30) = pUx 12

Write an equivalent expression by factoring.
55) 3x(5x + 6) - 4(5x + 6

Gx+O(3x-4)

56) 18x2 + 12xy + 15xy + 10y2
TN

N
6x(3x42y) +5y (3¥42y)
Ok bX+5¢1)

Check!
57) x3 - 2x2 + 9x - 18
R Ve \_/—\/"“—/

¥(x-3) 1a(x)

58) (m+7)(a-6)+(m+7)(a+1)

(7Y (6-6) £ as)
- (M_{:?)(O.-(, 461-}:\

:@47Y QA —SX 7

14

out at least a negative 1.

If the first term is negative factor

If the greatest common factor is
a binomial, keep itinits
parentheses.

If the polynomial has 4 terms,
most of the time you will factor
by grouping. Group the first two
terms and the second two terms.
Then factor out the GCF, and
repeat with the binomial GCF. If
there is no binomial GCF in the
latter step, wou will not be able to
finish the factoring.




54 Factor. K
59) p2 - 7p + 10 Chec

(p<aXp-5) F o
P50 2410

p*-7pP+l0

Factor.

60) x2 + 3x - 18 (@‘Ck

Gvx=3) ¢ oz L

X’ 3x Aox ~§
Y i43x =18 v
61) 2x2 - 2x - 12
2(3*-x-6)
) (¥ D=3 < leck
2 (¢-3x3%-6 )
2 (X¥—x6)

AXEIN-1D "
62) 8 - 62 - 922

M C begk. (

63) 21x2 - 91x - 70

7(34-Bx-1)  Lhet 7 x Ax )

Z(3x+2)(x—15)

64) 5x3 + 5x2 - 30x

2 (% Ax

GwramLﬂf’c{l

(P= Xp=)

Cx + Ax+ )

2

s U xot ekt oy (e A
5k (0 3 XX-2)

15

)

2)

When factoring a trinomial, |
start by setting up two binomial
parentheses and then writing
down the guarantees in the
factoring, thinking about the
FOIL process. | have put down
the starting guarantees in blue
for these problems.




65) 60x3 - 5x2 - 30x
5 X (flx’—x—Q C ek
5y (3X+2XYX-3)

66) 8x2 - 18xy + 9y2

/(’fx - 377@( -W)J clrck!

67) x2 - x - 35
()

5.5 Factor completely.
68) z2- 14z + 49

(-7XZ-7)

Factor completely.
69) y2 -9

(Y43 \/35\'

70) 6pq? - 6pr4

S

(4 +r

5Xx( X )

Cx  Ax )

(2— Ae—")

If the two binomial factors end
up being the same, you write
them as one hinomial squared.

Loak for the difference of
squares. The factoring is
always guaranteed and these
are some of the easiest of the
factoring problems.

You want to keep factoring until
you can go no further.

16




71) - - p2

Ea;p é—pﬂ

72) 25 - (x + 4y)2

( 54 ( ¥ Lfm( él@‘qm

73) 12 + 2rs + 5% - 16
TN

(r+5 Yr+s) =1L
(r+sy =16

(rt9) +4)(r+9) ~4
(S #)( 1S —H)|

5.6 Factor completely.
74) x3 - 343

75) 27a3 - 64b3
(Ba-4b Y 1= Haab4ibi? )

(t-R)(LL +LR + RR)

300 Hb 3a-3 Zalb Mo 4b

76) 100083 + 1
(105 +1 ) 1605°~105 + )

(£

Remember to keep the binomial
in parentheses until you are
ready to remove them. Inthis
case you need to distribute the
negative to remove the second
set of parentheses.

This is a more rare case of a
four termed polynomial. The
factoring is stillo by grouping,
but you group the first three
terms together into a perfect
square trinomial. Then you have
a difference of squares.
Sometimes you group the last
three instead. You will know by
where the - is in the problem.

There are three patterns that make the sum or difference of cubes easy to do.

“|First: The parenthese pattern is a binomial and a trinomial.

Second, the sign pattern is given by S O AP. This stands for Same, Oppoiste,
and Always Positive. If the cubes are a difference, you would have - + + for the
signs.

For a sum, you would have a + - + pattern.

Third: The binomial is made out of the cube roots. If you think of the binomial as
the left and right part, like (L R), then the trinomial is made up of terms (LL LR
RR) where LL is the left term times the left term, etc. You already have the signs
determined, so just wiorry about the terms with this pattern.

One last note is that the resulting trinomial is PRIME if it is an x*2 type trinomial.
So don't try to factor it further. It doesn't go. If itis an ¥ type trinomial, it may
wiell factor, but it will be nearly impossible for you to get the factoring directly
{LOTS of trial and error). So the trinomial is either PRIME or a waste of your
time.

17




77) pb - 1
CPBTL-”'l}
P+ P =1 )

3

This problem can be factored the
farthest if you first interpret the
difference as a difference of
squares. It can also be thought
of as a difference of cubes. The
blue factoring is following the

(P +1Xp-p+1 Xp=l Kp+p+] )

5.7 Factor completely.

78) 32a4b - 18b3

2b (lta' - qL7)

difference of cubes
interpretation. Motice the last

>
(PY — |
(P> 1) (p"+ P’ O

(PHOYP-D (p"+p H)

mfﬂ?% b (4R *3@

79 a4 +ad+a+1
\_,—--—v-_f e e
ol ar) +1(a+1)
Ca+0)( o4 '3
[ 4—1) RGN
Cor1) (a®-2+1)
Solve the equation.

80) x2 - x = 72
-72 17

X7-X <3250
X-9Xx+g)=0
Er el
= %)

[\

5.8

!
\

s

Solve the equation.
81) 6y2 + 19y + 15=0

(3 + 33 +5) -0

trinomial is not easy to factor. In [ ;
fact there is no obvious way to - o
even start. ~ >
) -
For polynomial equations, you first want to get the
equation = 0 by moving everyting to one side. Then
factor. If vou can do this, the next step is to set each
. = Y =- s factor = 0 and solve for your answers. This last step
C hec k X C‘ 2 uses the Property of Zero Factors, or the Zero Factor
Xz -y =77 X; X=72 Property.
N (g -(-8)=73  |The ZERC FACTOR PROPERTY is a nice way to
Cl‘ - q = ?Q remember the order of steps for these equations: First,
¢ L/ +% = ‘.7; e =0 then Factor, then use the property.
§(-9=727
Make sure to check your answers as these are
equations.
_-3 — %
check =73 Checke

L(-2Y HG(-2)+5=0

(-5 +14(-¥%) 4520

3 -2 -0 -5 - =
7 - —
2Y==3 >y :_'5_ 2’5 -—,5; +15 =0 3_32 —fi%l__-_;_u;ro
- = —50 —_
}/’% ;7 /% =22 415 =0 —45 15 =0
82) 12n2 + 15n = 0 vy =3 Cepis o
3n(4n+5)=0
_ UNF5 =D
n=90 e E
3 3 A =-5 Chcel!
N=0 - 'l
5
Y

l:s
Y
1

18



_ - If the problem is factored before
83) (X * 7)(X 7) 24 itis =0, you will have to multiply

to simplify and then pull all of it to

2

R ;)!:fq :-)1-[ (D'r’({(i one side to factor.
2 . f +2Y

X —2b =0

Ck+5)(x-5)=0
¥+5=0 =5 =0

84) x4 -90x2+729=0

-k (y*—9) =0

(x =9 Xx+i Ax -2 ¥x+2)=0

¢ heekl

85) x3 + 10 = 10x2 + x

o =X -1ox* = A
P

W(x-@) —I(x-r)=0
(k= (x*=1) =D
(x=0X x+ Y x-0) =0

Solve the problem.
86) Let g(x) = 9x + x2. Find a so that g(a) = -14.

S o
da+a® = -(Y g(a):f(‘(

B A7) =90 +(-7)"
aa-F-‘?a +4=0 = -3 +ug=—1Y Vv
=0
la+7Ya+y) 9(2)=T62) +(5F -
Find the domain of the function h. =8+ y =-IY

87) h(x) = _-Ix
-9x2 + 324

—A1’ 324 =0 So |5 (X, Xl
~9(x*=326)=0 ( / #:E
- (J4+€Yx-0)-0
-476  x=-6, ¥x=6

Solve.
88) Find two consecutive integers such that the sum of their squares is 421.

X }(x,} ﬂ are 2 consSecotve rn%r-jr-/s

W+ (xS 0l 2 (x—if Xx+5 )=0
Ch D) = W2l [ 270 x=l, 4=005
X4 XK =2l R xei, Cor k=-(5
X" Fox =420 =0 X, 4#)ore 1O K (4D o

2(X7+X -210)=0 [g/%ﬁ;g of ZCKT/’/‘@




89) The length of a rectangle is 6 inches more than its width. If 3 inches are taken from the length and added to
the width, the figure becomes a square with an area of 81 square inches. What are the dimensions of the
original figure?

o= (orw-¢d
-%%6 7 Dw g) = (LAY w43) Y
Wy ) w3 3= W+ bu+q

Q\{i:________ 6= Wi bw-72 o= bm L=6in,

Solve the equation. Round to the nearest tenth, if necessary. o b / /4
90) If an object is thrown upward from the ground with an initial velocity of 11271t/sec; ftsTeigtttatter t sec is

given by h =112t - 16t2. Find the number of seconds before the object hits the ground.

’ﬂnrsmuwk -‘;S L‘\ =0 so f—:O fjw[’lt"f\ ‘hne oéya( fjh/‘gujv”_
0= 2% -14¢ L=7 swhen i+ bife Foe gocad

0 = bt (7-4)
be £0 ~ [7 smonds|

91) A ball is dropped from a cliff that is 256 ft high. The distance S (in feet) that it falls in t seconds is given by

the formula S = 16t2. How many seconds will it take for the ball to hit the ground? Round to the nearest
tenth of a second.

§=75(
Extra formulas you might need to
5 - {(,-[ 2 do these story problems are the
l; ( ) following:
; 6 - 6-( Area of a rectangle
Ferimeter of a rectangle
J{7-256=0

Fythagorean Theorem for a right

’6 (.(2— /B) = D triangle
/é ({"’L L{Y{ = L{) =0 éirrecau?rjfzrginrg!eeof a circle
lzo, €=~y {=V D=RT

1

Representations of consecutive
('Zl 5“9(04"1 S integers or consecutive
even/odd integers.

20





